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Subject: ENGLISH
1) Read the passage carefully and answer the following questions carefully:
The giraffe is the tallest of all living land animals. A male can go up to 18 feet and a female up to 15 feet.
Such height enables them to escape the competition for ground level grass that exists among other leaf-
eaters. It also gives him a long range of vision. He takes the warning of the approaching enemy early.

Giraffes eat a variety of leaves, but acacia leaves are their favourite diet. In spring when many trees
are not in leaf, they spend 80 per cent of the day eating. In summer, when trees are in full leaf, they
need only 15 per cent. The rest of the time is spent in resting and quarreling.

A giraffe's long neck is made up like that of man and most other mammals, of only seven vertebrae.
The bones are attached to one another with ball and socket joints. These make the neck flexible. It can
run at 50 km per hour.

Rising from a lying position is a problem for such a large animal. So, it usually keeps standing even
while it sleeps.

To reach water with such a long neck and legs, a giraffe spreads its front legs wide apart. Then it lowers
its neck to drink. This awkward position makes it easy for the lion to attack it

1A) Answer the following questions:

i) What is the average height of a male giraffe?

ii) What is the favourite diet of giraffe?

iii) What is the running speed of a giraffe?

iv) Giraffe’s neck is made up of how many vertebrae?

v) In which position does a giraffe sleeps?

1B) Tick the correct answer:

i) The giraffe is the of all living animals.

a) heaviest b) tallest c) longest

ii) The height of a female giraffe can go upto ___.

a) 20 feet b) 13 feet c) 15 feet

iii) During spring, when trees are not in leaf, giraffes spend ____ of the day eating.

a) 80% b) 50% c) 30%

iv) The giraffe’s neck bones are attached to one another with
a) pivot joints b) ball and socket joints c) fixed joints
v) To drink water, the giraffe spreads its wide apart.
a) shoulders b) hind legs c) front legs

2) Rearrange the word to form meaningful sentences:

a) played/is/kabaddi/two/halves/twenty-minute/in

b) seven/teams/members/of/two/each/consist

c) raider/a/player/team/one/sends/called/a

d) defenders/raider/the/to/try/stop/the

e) team/the/points/with/the/most/wins

3) Find the errors and rewrite the sentences correctly:
a) She don'’t like to play kabaddi.

b) The players was running very fast.

c) He go to school everyday.

d) A team have 10 members.

e) The whale are the biggest mammal on earth.

4) Fill in the blanks with correct relative pronouns:

a) This is the boy won the race.

b) The book you gave me is interesting.

¢) This is the place [ was born.

d) Do you know the girl brother plays cricket?

e) The lady with Riya is standing is her aunt.



5) Fill in the blanks with the correct form of degree of adjectives:

a) The blue shirt is than the red one. (bright)
b) This is the movie I have ever seen. (exciting)
c) My brother is than me. (tall)

d) She is the student in the class. (intelligent)
e) The weather today is than yesterday. (hot)

6) Write questions for the following sentences.

a) She is reading a storybook.

b) The sun rises in the east.

c) My father is a doctor.

d) We celebrate Independence Day on 15th August.
e) The children are playing in the park.

7) Circle the incorrect articles and write the correct one:
a) She saw a eagle flying in the sky.

b) He bought an book from the shop.

c) My father is a honest man.

d) The Taj Mahal is a most beautiful monument.
e) She kept an one-rupee coin in her purse.

Subject: MATHEMATICS
1)The hands of a clock show the following times. Write the angle formed between the hands :
a)3 o’ clock Db)6 o’clock c) 7 o’clock
2)Draw an angle of 70°.Now construct its reflex angle. Write both measures.
3)Gather data: Number of hours of TV watched by each students in your class .
a) Represent it as a pictograph.
b) Convert the data into bar graph.
3) Design your own 3x3 grid using numbers between 100 to 999 so that the middle cell is a supercell .
4)What is the maximum number of supercells possible in a 4x4 grid? Explain.
5)Identify the pattern for the following and find the next number. 3,6,10,15,21,28, .
6)Write any two palindromic 4-digit numbers using 5 and 6.
7)Define data and write five examples of data from daily life.
8) Why is largest number in any grid always a supercell?
9) Verify the collatz conjecture for the starting number 100 by writing out the sequence until you reach 1.
10) Which type of graph is used to show the data using rectangles of equal width?

Subject: SCIENCE

Q1. Are the following changes reversible? If yes, mention the methods used to bring about and reverse
the change in each case.
a. Water vapour into water b. Rusting of iron c¢. Water into water vapour
d. Hardening of cement e. Milk into curd e. Ice into water
Q2. Use the correct options to complete the story given below-( Hand-picked, evaporation, winnowed,
sun, churning, happy, sieved, threshed, filtered)
A farmer was to see his wheat crop ready for harvesting. After harvesting, he left it in the

to dry the stalks. To separate the seeds from the stalks he them. After collecting all
the grains he wanted to separate the stones and husk from it. His wife the grain to separate
the husk. Later She the grain to remove the stones. Then she ground wheat and the flour.
Q3. The question below consists of an assertion and a reason. Choose the appropriate answer from the
options given below.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.
i. Assertion (A)- Materials which can be compressed or scratched easily are called soft.
Reason (R)- The material which can be difficult to compress are called hard.
ii. Assertion (A)- Respiration is an exothermic process.
Reasen (R)- In an exothermic process heat is evolved.
iii. Assertion(A)- A dog is an omnivores animal.



Reason (R)- An omnivores animal is one that can eat both plants and animal products.
Q4. Answer the following questions-

i. What is meant by adaptation? Give two examples.

ii. Why are iron gates painted?

iii. Distinguish between transparent and opaque materials.

Subject: SOCIAL SCIENCE
1.Read the below passage and answer the questions that follow:
Studying history involves understanding the past and its impact on the present. Historians use various
sources to reconstruct the past. These sources can be divided into two categories: archaeological sources
and literary sources.
Archaeological sources include remains of buildings, tools, coins, and other artifacts. Literary sources
include written records, such as manuscripts, inscriptions, and books.
A timeline is a chronological list of important events. It helps historians to understand the sequence of
events and their relationships.
A. What are the two categories of sources used by historians?
B. What is a timeline?
. Why do historians use timelines?
. What are some examples of archaeological sources?
. What are some examples of literary sources?
. Describe the role of the Persians in naming the Indian subcontinent.
. Define a modern nation.
. What is the meaning of democracy? What is the difference between direct and representative Democracy?
. What is separation of powers?
. Why do we need three levels of government?
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